Dammam Community College
MATH 012  

Past Exam Questions

Section 10.2 (Ellipse)
1. Find the value of the eccentricity of the ellipse
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Answer: 
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2. The equation of the ellipse in standard form with vertices 
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, and passing through point 
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Answer: 
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3. Given an ellipse with foci on the line 
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 minor axis on the line 
[image: image8.wmf]3,

y

=-

 length of the major axis equals 8, and length of minor axis equal 4. Find: 
a. The coordinates of the center of the ellipse.
b. The coordinates of the foci of the ellipse. 
[image: image9.wmf]
c. The equation of the ellipse in standard form.
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Sketch the graph of the ellipse (show the coordinates of the vertices of the ellipse)  
Answers: 
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4. The equation of the ellipse in standard form with vertices 
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and 
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, and one focus at 
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Answer: 
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5. The set of all values of k for which the equation 
[image: image15.wmf]22

9184160

xxyyk

-+++=

 is an ellipse is
Answer: 
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6. Find the equation in standard form of the ellipse that has center 
[image: image17.wmf](2,4),

 major axis parallel to the y-axis and of length 10, and passes through the point 
[image: image18.wmf](3,3).

  
Answer: 
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7. Find the eccentricity, the coordinates of the vertices and the foci of the ellipse 
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Answer: 
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8. Sketch the graph of the ellipse 
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 showing its vertices and foci.
Answer: 
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An ellipse given by the equation 
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a) Find its vertices and foci.
b) Sketch the graph of the ellipse.
Answer: 
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10.  Find the standard form of the equation of the ellipse that has foci at 
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and 
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, and vertices at  
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Answer: 
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With complements of Dr. Ali Al-Karkhy


_1239466532.unknown

_1239486034.unknown

_1239490513.unknown

_1239492384.unknown

_1239808787.unknown

_1239903243.unknown

_1239903193.unknown

_1239492405.unknown

_1239492499.unknown

_1239492296.unknown

_1239492312.unknown

_1239491211.unknown

_1239486237.unknown

_1239486286.unknown

_1239486062.unknown

_1239483887.unknown

_1239484180.unknown

_1239485869.unknown

_1239483905.unknown

_1239483792.unknown

_1239483805.unknown

_1239468359.unknown

_1239465939.unknown

_1239466035.unknown

_1239466503.unknown

_1239465972.unknown

_1239465283.unknown

_1239465923.unknown

_1239465204.unknown

_1239195483.unknown

